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Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o gheEreff 7T T To FIT-UH T 9T [ord)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FAY &7 @ Y@ 98 FrRET #Y o [ geT-9A §U 7 & 8, qhEr & I 59
&g g A aar @hHre & R @

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

T 39T -
General Instruction :
() & FT S 8
All questions are compulsory.
(i) @& TIT Sy FAT-gréaHr § ey

Write correct answer in your answer-book.
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(2) 5503/(Set : B)
1. &A1 3825 %l AT UMEEl & U b &9 § FH B 1

Express 3825 as a product of its prime factors.

2. 64 T 96 H HCF T BT ? 1
What is HCF of 64 and 96 ?
3. % fEun 9w S TG, Rrew S B AN T OB HAS: -3 AR 2 B 1

Find a quadratic polynomial, the sum and product of whose zeroes are
-3 and 2 respectively.

4. K% & 9l & fog, fret X afisl & 39 & 0 SAfEdd & § 7 1
4x+Ky+8=0Td 2x+2y+2=0

For what values of K does the pair of linear equations 4x + Ky + 8 = 0 and
2x + 2y + 2 = 0 has unique solution ?

5. K& [0 M & fo1q f&am afeer K@ - 4x+2=0 & 90 & & ? 1
For what values of K, quadratic equation Kx* — 4x + 2 = 0 has equal roots ?

6. A.P.10,7,4, ......... & 54f 9g ST BT 1
Find 5th term of A. P. 10, 7,4 ............ .

7. g ¥ DE||BC 31 EC &I daE SIq i) 1

1.5cm 1 cm
In figure DE || BC. Find length of EC.

D E
3 cm
B C
8. qi%sinA:%,a‘rcosA%rrrﬁaﬁaﬁﬁm 1
) 3
If sinA= 2 find value of cos A.
9. sin 45° + cos 45° & HE A HISTY| 1

Find the value of sin 45° + cos 45°.
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

(3) 5503/(Set : B)
7 G BT A9 OF 39 @ 0% BeUEve & aEhd S S, RTEE S 60° B 1

Find the area of a Sector of a circle with radius 7 cm if angle of the Sector is
60°.

wﬁﬁqﬁw%%@wwaﬁ%maﬂwm| 1

Whether the Rational number % will have a terminating decimal expansion

or non terminating repeating decimal expansion.

faEm AT 3.2 — 5x + 2 = 0 & [Aqest G I 1

Find discriminant of quadratic equation 3x* - 5x + 2 = 0.

Y 9 7,5,3, 1 e N TG ST ST i 1

Find common difference of A.P. 7,5, 3, 1 ........... .

AP.2,7,12 o % e 6 Y&l & N §I i 1
Find the sum of first 6 terms of A.P. 2,7, 12 ............ .

kG AR B 1 (@HeEy/ garTem) 1
All circles are ............... . (Similar/ Congruent)

et g o TR 34 . frgall W ufereRe Hdl B 1
A tangent to a circle intersects it in ............... points

T fag & g9 W dih T wsReEel @ et 3 I 1

The lengths of tangents drawn from an external point to a circle are ............ .

frgalt (-5, 7) & (-1, 3) & o9 A TU 3T Hiow 1

Find distance between the points (-5, 7) and (-1, 3).

cos?0+sin?0 B HAM = oo, B Bl 1

The value of cos? 0 + sin> 0= ....ooooov....... )
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20.

21.

22.

23.

24.

(4) 5503/(Set :

I P(E) = 0.15 B, @ ‘E -&I’ & Wiekdr & & ?
If P(E) = 0.15, what is the probability of event 'not E' ?

fr=ifeiieg & @ S9-9 9 oAy ® ?

) V4 B) 5 (©) 9 (D) +16
Which of these is an Irrational number ?
N B) 5 © o (D) 16
femma SgTE 222 + 5x- 3 & B H A ©

-3 -2 -5 -3
(A) Y (B) = (©) > (D) =
Sum of zeroes of quadratic Polynomial 2x* + 5x - 3 is :

-3 -2 -5 -3
(A) Y (B) = (& Y (D) =

fEEm TRt & 7 x -3y -3 =0 T 3x- 9y -2 =0 & & &I :

() faEda o & (B) I3 & &

(C) HURFG 3% & (D) = & &I &

The pair of linear equations x— 3y -3 = 0 and 3x-9y - 2 = 0 has solution :
(A) Unique Solution (B) No Solution

(C) Infinitely Many Solutions (D) None of these

= @ B-d fEEE qefe § 7

(A) (xt2) (x+1)=(x—-1) (x+3)

(B) X +3x+1=(x-2)°

(C) (x+1)*=2(x-23)

(D) (x+2)°=2x(x*-1)

Which of these is a quadratic equation ?
(A) (x+2) (x+1)=(x—-1) (x+3)

(B) xX*+3x+1=(x-2)°

(C) (x+ 1)?=2(x-3)

(D) (x+2)°=2x(x*-1)
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25. fgEM @HH o2 - 3x— 10 = 0 & Tl Bi ¢ 1
A) 5,2 B) 5,-2
(C) -5,2 (D) 5,3
Roots of the quadratic equation x> - 3x— 10 = 0 are :
A) 5,2 B) 5,-2
(C) -5,2 (D) 5,3
26. 3T § H-G A.P. Rl & ? 1
A) 2,4,8,12 ......... (B) 0.2,0.22,0.222 ..........
(©) 3,5,7,9 ... D) 1,2,4,8 ..........
Which one is A.P. series ?
A) 2,4,8,12 ..., (B) 0.2,0.22,0.222 ..........
C©) 3,5, 7,9 ccccu.... D) 1,2,4,8..........
27. AABC 3R AQRP THEY BYs E| $7H T9&UAl & HiF-81 HAC J4NT 8rit ? 1
(A) S.A.S. A v
(B) A.AA. ) 3 6 .
(C) S.S.S.
(D) T & Fi3 T B—Hs ¢ Q73 R

AABC and AQRP are similar. Which similarity criterion is used ?

P
(A) S.A.S. A
(B) A.AA. 5 3 6 5
(C) S.S.S.

B5s © Q77 R

(D) None of these

28. Qzﬁi%lr—gQ@f@ﬂﬁwwﬁ@aﬁw@%@rﬁwo%#ﬁagﬁzsﬁ%g?r
CINEE:

A) 7 o (B) 12 qHI (C) 1594 (D) 24.5 99

From a point Q, the length of the tangent to a circle is 24 cm and distance of Q
from the centre is 25 cm. The radius of the circle is :

(A) 7cm (B) 12 cm (C) 15cm (D) 24.5cm
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29. IR TF g P ¥ O &% a [l g0 W PA T PB WY W@T WER 80° & & W

g B, AW |[POA T B : 1
(A) 80° (B) 70°
(C) 60° (D) 50°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 80°, then | POA is equal to :

(A) 80° (B) 70°
(C) 60° (D) 50°
30. gl (-1, 7) T (4, -3) F HAM AW @ETS & 9F g & MRS ¢ ¢ 1
1
(A) (§,2j (B) (2, 1)

3 -3 1
@ (32 o [53)

Co-ordinates mid point of line joining two points (-1, 7) and (4, -3) is :

1
(A) (5, QJ B) (2, 1)
3 -3 1
31. y-o W f5Hl fog & Fdeiss 8 ¢ 1
(A) (6 Yy B) (x, 0)
©) (y, 0) (D) 0,y
Co-ordinates of any point on y-axis are :
(A) (6 y (B) (% 0)
() (y,0) (D) 0,y
32. ¥« forg & Fdwi & ¥ 1
(A) (% 0) (B) (0, 0) € (%Y (D) O,y
The co-ordinates of origin are :
(A) (% 0) (B) (0, 0) ©) 6y (D) (0, y)
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33. I UH IO H TR A ATEA TEAHE qEK &, Al SH I B (591 § ¢ 1
(A) 2 HER (B) = "E%
(C) 4 H=h (D) 7 WHEH
If the perimeter and area of a circle are numerically equal, then radius of the
circle is :
(A) 2 Unit (B) = Unit
(C) 4 Unit (D) 7 Unit

34. g % @ 9 Brewr § el H@ey § 1
(A) ¥ = —B‘;q' (B) =9 = B
(C) ™ =2 x B (D) B =2 x&™
The relation between diameter and radius of a circle is :
(A) Diameter = Radius (B) Diameter = Radius
(C) Diameter = 2 x Radius (D) Radius = 2 x Diameter

35. § forae @R, AR ok Has HA: 10 ¥, 6 ot qur 4 & B, @1 oTE &R o 1
(A) 240 §91° (B) 250 aH°
(C) 400 o= (D) 280 T

The volume of cuboid whose length, breadth and height are 10 cm, 6 cm and
4 cm respectively is :

(A) 240 cm? (B) 250 cm?®
(C) 400 cm? (D) 280 cm®
36. R Bowr a@ A & T A% & © ¢ 1

(A) nR (B) 2 nR2

(C) 3nR (D) 4 nR?

Surface area of a sphere of radius Ris :

(A) nR (B) 2 nR

(C) 3 xR (D) 4 nR°
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37. UEdl 5 WA GEAST H AEA ¥ 1
(A) S (B) 4 € 3 (D) 2
Mean of the first 5 Natural numbers is :
(A) S (B) 4 € 3 (D) 2

38. fy=feed sifeet 2, 3, 5, 3, 6, 4, 3, 5 B TgAH BFT 1
(A) 2 B) 3 (C) 4 (D) S
Mode of the following data 2, 3, 5, 3, 6, 4, 3, S will be :
(A) 2 B) 3 (C) 4 (D) S

39. @ IA T 4 @ T 6 FAH R & A4 F ¥ TF AT AgSAT (pa S 21 e © AT
% T B B AT SRl 1

2 4 6 3

(A) = (B) 5 (€) 10 (D) S

A bag contains 4 red and 6 black balls. A ball is drawn at random from the
bag. The probability that the ball drawn is red :

2 4 6 3

(A) 5 (B) 5 (€) 10 (D) 5

40. T @ FF-H de e qer & MR 787 & adl ¢ 1

2 o 3

(A) 3 B) 25% (@] 5 (D) 0.7

Which of the following cannot be probability of an event ?
2 o 3

(A) 3 B) 25% (@) 5 (D) 0.7
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